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General Instructions:

L. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-D comprises of 11 questions of 4 marks each.

There is no overall choice in this question paper.

Use of calculator is not permitted. '

.o

TUS-37 / SECTION-A
T FEA 1 R4 W WG F 1 5F B
Question numbers | to 4 carry one mark each

Yo B2 ¢ 6 = 9% e e 9 FRT 1
Find the positive root of V32 +6 =9
2 753 m 39zt 1 3E e 4 75 m F g W fee fig F S wiv a dm 2 1

What is the measure of the angle of elevation of the top of a tower 753 m high from a point
75 m from the foot of the tower ?

3 UF U F O 91 39T 1| faew g & s Y wiftsa 9w w5t 1
A die is thrown. once Find the probability of getting an odd number.
4 T GHIRR S % ¥ SR P (1,4), Q (7, 11), R (a, 4) TS (1, —3) ¥ 1 a &1 9H 1 F1w | 1
A parallelogram has vertices P (1,4), Q (7, 11), R (a, 4)and S (1, — 2). Find the value of a,
QUe-q / SECTION-B

T A 5 H 109 Y & 2 3
Question numbers 5 to 10 carry two marks cach.
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5 AP:7,13,19, 25, ... T n =1 98 70 FIT | 2
Find the n'" term of the AP : 7, 13, 19, 25, ...
6 afe fgad GHiF1 2 + dx + k=0 F Fa Frafaa aur =1 . @ k1 56 s i 2

If the quadrat?c equation x? + 4x +k =0, has real and distinct roots, find the value of k.
7 aﬁmﬂPAWPBaﬁiomﬁﬁaﬂmm%r’-TT'E;APB:ao’-éT,gOABaTﬁaﬁErI'—\;rm 2

A .,
P/ @) \+

In the given flgure PA and PB are tangents to the circle with centre O, If ZAPB=60° find
ZOAB.

il #1 O Wi FaRy fome waim oF vErEE w1 0w R e s § fawifye w0 F fam fem 2
ST

State the theorem of triangles, which is used for dividing a line segment in a given ratio.
i aHfs § AABC F1 &I AB, BC 91 CA, 7% 9 #! HW: P, Q 941 R 0 &9 =0t &1 afz 2

PA=4 cm, BP=3¢cm a9 AC=11 cm @ BC H| F4E cm ¥ 39 Fifau |

Ot
N

B Q L
In figure, the sides AB, BC and CA of a AABC, touch a circle at P, Q and R respecuvely It
PA= 4cm,,BP 3 ¢cm and AC=11cm. Find the length of BC in cm.

P 13

B Q C .
10 T g 30° & IV T el @ ¥ TG AT 8.8 cm Tl UF 919 &A1 @ £ T2 HI A@9% A 2

ﬁﬁ'&l(w:%wuﬁrﬂﬁm)

A pendulum is swinging through an angle of 30° and describing an arc of length 8.8 cm. Find the
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length of the pendulum. {Use = = g )

4

FUS-H / SECTION-C
T T 11 H 20 § TS FT 3 FF T
Question numbers 11 to 20 carry three marks each.
a1 AP %1 Hrd #Hal §AE 21 3f 2T AP F UeeN 9T FHY: 5 W6 &, A1 39 YAW 20 U2 F ANTEHA]
W1 I Fd I |

Two APs have the same common difference. If the first terms of the APs are 5 and 6 respectively, find
the difference between the sum of their first 20 terms.

faend W0t 9x2 — 15x+ 6 =0 &1 7 Ui % &1 fafy J 7o Fifeu)

Solve the quadratic equation 9x2 — 15x + 6 =0 by the method of completing the square.

31 4 cm 9191 TF 99 W30S F2 4 8 om HI g0 W fid ww (57 p § w3 w@weil %1 % g pq
3i pr @ifTT | pQ 31X PR #1 I |

Construct a pair of tangents PQ and PR to a circle of radius 4 ¢ from a point P outside the circle 8 cm
away from the centre. Measure PQ and PR.

TF EHT UF Tl 1 3G9 FI0 30° Ufera @ &1 fee 3= vl Y 3R, S fer ) 100 m T
T G HAAT © R IAFT I 60° § | FE SHE A w7 {9 0T qa AT gI &

A man observes the angle of elevation of a bird to be 30°. He then walks 100 m towards the bird
which is stationary and finds that the angle of elevation is 60°. Find the height at which the bird is
sitting.

wF I | 6 A, 3 Fiell 3N 6 Whe 3 ¢ 3@ I A A & g Aglos w1 ¥ Faeh s &
wifasar 9 it fF 7% g

(A) AT T EE

() AW T T TR FEH R :

A bag contains 6 red, 3 black and 6 white balls. A ball is drawn at random from the bag. Find the
probability that the ball is

(A) either red or black.

(B) neither red nor black.

591 10 397 9191 99 & &7 fdg (4, 5) &1 P10, 5) Tk T fag & <Y g1 e foug & a1 APB
9 ! UE Sfta € foF ap=pB &1 AB HY Taré uftwfera wifen |

The centre of a circle with radius 10 units is the point (4, 5). P(10, 5) is a point inside the circle and
APB is a chord of the ciicle such that AP = PB. Calculate the length of AB.

A(3, 4) 3 B(6, —2) T WA F11 WW@EVE R g p 30 YR ® fF sap=28P 1 p & Fidwis 9@
ifera |

P is a point on the line segment joining A(3, 4) and B(6, —2) such that 5AP = 2BP. Find the coordinates
of P.

TR @S TTER deF e a1 m B e Tae A (P ) {9 O,
ToRET W 1 US UH o 1 AR A 9 § WIH 8 AHY B HEE 5 cm ¥ SR IR dAgH H
WIET A T €, 91 39 9 4 & Wkl i A9 Hied § aiia 9| Hife

rour hollow cubical boxes each having outer edge 1 m are joined to form a double bed in
whach top face is a square. If the wood used is of thickness 5 cm and all the four boxes can be

opened, then what is the capacity of the boxes of the double bed in cubic metres?
ot FgerRr ok, AE FE w1 P A= F e ae a6 w aas # e e e g, e

T3 14 m 5 1 ww feards ®1 afe 39 99 #1990 52 m, 56 m 3R 60 m &, @ T F I A

s
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In a triangular park, the three carners are used to make play areas for children in the form of sectors
of radii 14 m each. If the sides of the park are 52 m, 56 m and 60 m, find the area of the remaining

portion of the park. (Use 1 = %}

TF 40 m T AN 7 m AW T TH T @@ A v @ feet @ A 9
22m X 14 m 1 TR FAAT T FGAL Bl ST A FIAY
A 40 m deep well with diameter 7 m is dug and the earth from digging is spread to form a
platform 22 m by 14 m. Find the height of the platform.

|UE-2 / SECTION-D
U G121 H31H U & 4 30 ¥
Question numbers 21 to 31 carry four marks each.

(T AP & WIH n TR H ANTES sn D A ¥, @ Rag W R S, = 3 (S -yl 4

if Sn denotes the sum of first n terms of an AP, prove that 515 = 3 (Sg — Sy ).

g

EY

TS AR 1 T Eled H AR T I foel 4,800 % ¥ i 5ot & Toaet § 4 & aifus &% 99, @
WiTeafR T 200 F9 < U@ | @ HifAC i gave Fra oofed w9
The hotel bill for a number of people for overnight stay is Rs. 4,800. If for the same amount there
were 4 more people, the bill each person had to pav wou'd have reduced by Rs. 200. Find the number
of people staying overnight.
AP F WoW 1 W M 45 1 AR TR it AR @ W pEww, g w2 afrwd @ap 4
I FIfT |
The sum of first three terms of an AP is 45. If the product of the first and the third terms exceeds the
second term by 21, find the AP.

4

A
mﬁﬁﬁoa@%mmt@m@ﬁ?ﬁﬂé%aﬂzmpmﬁmw%t I oL L AB®, @@
o5 Hifse f pAx PE =PT2 ®1

T

\

P
%

\‘. ’f;’-

o2l

In the figure, a tangent PT and a line segment PBA is drawn to a circle with centre O. If OL | AB,
prove that PA X PB= PTZ.

U T S xvz T G, o kv =5 cm, vz =12 em SR oY =90° ¥ i 9% guen a4
W%mﬁ@ﬁ:gﬁaﬁﬁmaﬁm:
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GEe : 4
similar to it and of factor —.
5

HeF TF WIS F A W w5 F I A 300 w30 9w yftm w HC T@WETF 4
9T F AT 20 m T & T2 G & R 39 g T 5999 10 600 & HeF &1 w9y fefg o =37 o
fehai gl 92 & 4917

Mehak observes that the angle of elevation of a marker on the top of a hili is 30°. She walks 20 m
towards the foot of the hill, along the level ground, and finds the angle of elevation of the marker as
60°. How far fram Mehak's first position was the marker placed ?

52 AWil 1 T TG A N I F AEIE, AT S oW w2 U SR E | sud a1 S F A= yE R
| % o R I wE § § uw W A w9 e 9w 2 e o wm e #
Wifaahdl §1d HiTary

A} THIH (B)  UF WEImE

© u=fas (D) THH B

The king, queen and jack of hearts are removed from a deck of 52 cards. Then the cards are well-
shuffled. One card is drawn at random from the remaining cards. Find the probability of getting

(A) a heart. (B) a king.

(C) a club. (D} a six of hearts.

AABC & ¥ A(-2,0), B(2, 0) 3R (0, 2) & 71 APGR ¥ ¥ii p(— 4, 0), Q(4, 0) 3R R(0,4) &1 Tenfaa
FifSTe o 21 Prgsii & el o1 STaTa 9% Gd gnol % S & 97 % A

The vertices of AABC are A(— 2, 0), B(2, 0) and C[0, 2} and that of APQR are P(—4, 0), Q{4, 0) and R(0,

4). Verify that the ratio of the areas of the two triangles is equal to the square of the ratio of their
corresponding sides.

An athletic track 21m wide consists of two straight sections 150 m long joining semi-circular ends

whose diameters are 84 m each (see figure). Find the area of the track. (Use m = %and \/Z?: = 1.73)
S R

Uh Y &1 09 UH g & 9% & 3HR & 8, W0 H9a 31 F9d 58 & =99 F99: 20 m
AR6meE TN IR 24 m T TH W4 m S G UF ARG §1 s w0 F s
HAETT Y T FI@
A circus tent is i tie form of frustum of a cone with lower and upper ends having diameters
20 m and & m respectively and height 24 m. It is surmounted by a cone of height 4 m. Find
the amount of canvas required for the same.

In a society, students thonght of collecting the rain water from a roof-top of dimensions
2201+ 20m by draining it 1ato e cylindrical vessel having diameter of base 2m and height
3.5m. i the vessel is just full, find the rainfall recorded in cm. What values are shown by the
students of that society? i

-otlotlotio -
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